Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - West End
Valid Votes	5,732
Positions to be Filled	4
Quota	1,147

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ted BOOTH	Scottish Greens - Think Global Act Local	536
Bill CAMPBELL	Scottish National Party (SNP)	872
Michael CRICHTON	Liberal Democrat Focus Team	165
Nadia EL-NAKLA	Scottish National Party (SNP)	924
Donald HAY	Scottish Conservative and Unionist	386
Annie JENKINS	Alba Party for independence	64
Brooke LABAGH	Independence for Scotland Party	15
Fraser MACPHERSON	Liberal Democrat Focus Team	2,146
Richard MCCREADY	Labour and Co-Operative Party	624
	Total	5,732

Candidate Fraser MACPHERSON Elected with 2,146 votes, being in excess of the quota of 1,147

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Fraser MACPHERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ted BOOTH	64	0.46551	29.79264
Transfer to Bill CAMPBELL	109	0.46551	50.74059
Transfer to Michael CRICHTON	1,410	0.46551	656.36910
Transfer to Nadia EL-NAKLA	80	0.46551	37.24080
Transfer to Donald HAY	144	0.46551	67.03344
Transfer to Annie JENKINS	10	0.46551	4.65510
Transfer to Brooke LABAGH	5	0.46551	2.32755
Transfer to Richard MCCREADY	230	0.46551	107.06730
No further preference	94	0.46551	43.75794
Not transferred due to rounding			0.01554
	Total		999.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Brooke LABAGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ted BOOTH	1	1.00000	1.00000
Transfer to Michael CRICHTON	1	1.00000	1.00000
Transfer to Nadia EL-NAKLA	3	1.00000	3.00000
Transfer to Annie JENKINS	3	1.00000	3.00000
Transfer to Richard MCCREADY	3	1.00000	3.00000
Transfer to Michael CRICHTON	3	0.46551	1.39653
No further preference	4	1.00000	4.00000
No further preference	1	0.46551	0.46551
Not transferred due to rounding			0.00000
	Total		17.32755

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Annie JENKINS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ted BOOTH	10	1.00000	10.00000
Transfer to Bill CAMPBELL	16	1.00000	16.00000
Transfer to Michael CRICHTON	11	1.00000	11.00000
Transfer to Nadia EL-NAKLA	10	1.00000	10.00000
Transfer to Donald HAY	4	1.00000	4.00000
Transfer to Richard MCCREADY	6	1.00000	6.00000
Transfer to Ted BOOTH	1	0.46551	0.46551
Transfer to Bill CAMPBELL	1	0.46551	0.46551
Transfer to Michael CRICHTON	3	0.46551	1.39653
Transfer to Nadia EL-NAKLA	1	0.46551	0.46551
Transfer to Donald HAY	2	0.46551	0.93102
Transfer to Richard MCCREADY	2	0.46551	0.93102
No further preference	10	1.00000	10.00000
Not transferred due to rounding			0.00000
	Total		71.65510

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Donald HAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ted BOOTH	14	1.00000	14.00000
Transfer to Bill CAMPBELL	6	1.00000	6.00000
Transfer to Michael CRICHTON	140	1.00000	140.00000
Transfer to Nadia EL-NAKLA	3	1.00000	3.00000
Transfer to Richard MCCREADY	85	1.00000	85.00000
Transfer to Ted BOOTH	4	0.46551	1.86204
Transfer to Bill CAMPBELL	2	0.46551	0.93102
Transfer to Michael CRICHTON	97	0.46551	45.15447
Transfer to Nadia EL-NAKLA	2	0.46551	0.93102
Transfer to Richard MCCREADY	11	0.46551	5.12061
No further preference	142	1.00000	142.00000
No further preference	30	0.46551	13.96530
Not transferred due to rounding			0.00000
	Total		457.96446

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Ted BOOTH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill CAMPBELL	105	1.00000	105.00000
Transfer to Michael CRICHTON	73	1.00000	73.00000
Transfer to Nadia EL-NAKLA	235	1.00000	235.00000
Transfer to Richard MCCREADY	91	1.00000	91.00000
Transfer to Bill CAMPBELL	14	0.46551	6.51714
Transfer to Michael CRICHTON	18	0.46551	8.37918
Transfer to Nadia EL-NAKLA	9	0.46551	4.18959
Transfer to Richard MCCREADY	13	0.46551	6.05163
No further preference	57	1.00000	57.00000
No further preference	15	0.46551	6.98265
Not transferred due to rounding			0.00000
	Total		593.12019

Transfers Report

This report contains the transfers results.

70.82692

Stage 7 - Surplus of Nadia EL-NAKLA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill CAMPBELL	1,026	0.05815	59.66190
Transfer to Michael CRICHTON	39	0.05815	2.26785
Transfer to Richard MCCREADY	57	0.05815	3.31455
Transfer to Bill CAMPBELL	55	0.02707	1.48885
Transfer to Michael CRICHTON	14	0.02707	0.37898
Transfer to Richard MCCREADY	9	0.02707	0.24363
No further preference	53	0.05815	3.08195
No further preference	14	0.02707	0.37898
Not transferred due to rounding			0.01023
	Total		70.82692

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Richard MCCREADY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill CAMPBELL	138	1.00000	138.00000
Transfer to Michael CRICHTON	284	1.00000	284.00000
Transfer to Bill CAMPBELL	30	0.46551	13.96530
Transfer to Michael CRICHTON	151	0.46551	70.29201
Transfer to Bill CAMPBELL	28	0.05815	1.62820
Transfer to Michael CRICHTON	6	0.05815	0.34890
Transfer to Bill CAMPBELL	4	0.02707	0.10828
Transfer to Michael CRICHTON	3	0.02707	0.08121
No further preference	387	1.00000	387.00000
No further preference	75	0.46551	34.91325
No further preference	23	0.05815	1.33745
No further preference	2	0.02707	0.05414
Not transferred due to rounding			0.00000
	Total		931.72874